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Rather, is it not where there are no witnesses  — 237¥ K397 X% XON

OVERVIEW'

X211 is attempting to prove that [the Xw™ of] the Xn™12 is in a case of 07y X2°7.2
Therefore the entire Xn»72 is 7y X2°972 even the cases of 17 7in1. Our Moon
explains why there is no contradiction from another X3,

n1voIN asks:
- DYTY NIYTTA $IINY 813 2917 INMI )2 PNYY 19229 YN

The 2''2%1 had a difficulty; for how is it possible to understand the X072 in a

case of 237V 82" (and we say that by 13212 1% 7303 the 121X is Y0 yaw3) -
= (0w)3,7m 97 Maw) 1PYAYIN T WA 13990N NN DI ¥aW) 191012 INNN )5 ON

For if indeed this is so (that it was given 0°7¥2 X5w), why is the ruling that if the
1R claimed his payment %13, the 128 is w1y pawi, but the X3 taught in the

beginning of Pwaws ¥ poo -
= @991 TPNIIY KXY 919 919W TINN 307¥a NHY 199V ONY

That if the 2"17v2 hired the 12X without 297w, the rule is that since the 2"7v2 can

claim, ‘I never hired you’ so I do not owe you anything -
- 4799 19 5NN TNV 1Y MY 9199

The 2"77v2 can also tell the 7218, ‘I hired you and I paid you!

nBoIN answers:
= 50NN NN NNNDOT RTNT 2191 NYP RDT PNYY 13929 99IN)

And the 3'"'9 says that there is no difficulty at all; firstly that this ruling is in

dispute there in n12w where others (may) disagree -
= 78PN N1IY 1999 19913 NN NID ININT I

And additionally here this 2% (of 7070w &%) does not apply, since the 2"7va
admits partially -

!'See ‘Overview’ to the two previous '0I10 on >X 7"71 7101 7"7 2,77.
2 o1y X2°% means that there are no witnesses who saw the 2"7v2a give the item to the 21X (to repair).
3 This is in a case where the 72w demands payment and the 2"7w2 claims that he paid him. The rule generally is that
the 770w is 01 vaw: (since the 2"7v2 is 123192 770 so he is confused).
4 Seemingly here too the 2"7va should be believed that the price was one (not two as the 12X claims), since he has a
37 that he never hired him and he owes him nothing,
5> The Xn3 there states, (@"¥) wp2 w1 2997 5900, See (also) awn noma.
% In our case here they are arguing how much was the price, as opposed to the X3 in M2w where they are arguing
whether the 75w was paid or not; only there is there this 2 of 0"77%, but not here as mon explains.
7 The 1R claims, ‘you owe me two’, and the 2"7v2 admits partially that he owes only one. This is the classic case of
n¥pna 77 where the rule is that the N¥PR2 777 1S 217 a RDIRT 7AW,
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And if the 2"7v2 would claim, ‘I never hired you’, he would be considered a
5277 791> (a complete denier), and there is the 7P (presumption) that a person
is not brazen (enough to deny completely) in the presence of his creditor.

SUMMARY
Not everyone (necessarily) agrees that a 2"7va has the wn of 010w X, and
certainly not in our case where he is a nXpn2 77,

THINKING IT OVER

The idea that a »"2m has no wn of 3"M> is very well known. What was n»oin
question in the first place, and why was it necessary for nv01n to offer another
answer [ first]?!

8 See X3 n"2. Every nxpna 77 (seemingly) has a 13°n of being a 9371 991, who is 709 from a 7312w, so why is a n"2am
obligated to swear; let us believe him with a 13°n that he could have been 9571 7912, The answer is that there is no wn,
for a person who is a "1 is not brazen enough to be 95771 7913 in the presence of his creditor. Here too the 2"nva is a
n"2m (see footnote # 7), he does not have the w» of claiming I never hired you, for that makes him a 9377 1913, and
we just said that every n"2m does not have the vi to be 3"m3; therefore there is no wn! See ‘Thinking it over’.
However in my1aw 'on, where the owner claims ‘I paid you’ (meaning he is a 9577 7913), is he believed with the wn of
770w XY, for both in his claim and in his 1°» he is a 3"m> (he is 1°¥» in either case). It is only a »n"2w (who is not
2"> 1yn) that is not believed with a w» of 2"m> (where he is 3"> yn).
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